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e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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(v) I 7 T A TG-FTIT I E | 9% To7 1 3% H1 5 |

(vi) Y97 G&IT 8 T 18 % Ycd%h Y97 3 3% F & | 378 & I Jo7 H IH

80 og] @ 37feres @7 781 &7 FfT |

(vii) ¥o7 G&IT 19 T 25 % Jcd% J97 5 b 7 8 | 378 & Id% J97 H I
100 3753 @ 37fere &7 987 &7 =eT |

(viii) Yo7 G&IT 26 HAEGT J97 5 37 HT & | 399 3 YT & — 26 (A) 3K 26 (B) |
26 (A) 2 37% T A5G @ 7T 26 (B) 3 37 &7 YT & & | TlGT T 97
7O &4 T 3G 91 FR-GIaHT & 3K 7791 BT |

General Instructions :

(1) The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

(it)  The question paper has 26 questions in all.
(iti) All questions are compulsory.
(iv) Marks are indicated against each question.

(v) Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers to these questions should not exceed 80 words each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

(viii) Question number 26 is a map question of 5 marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.
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WUE &
SECTION A
1. W& o IR yiEar 6t dgh! o U foshm 1 w&w <= 81 ehat @ 2 1

AT
Toh T fopE™ o foTu foenmd =1 @& =1 &1 Hhal 8 2 1

What may be a developmental goal of a girl who belongs to a rich urban
family ?

OR

What may be a developmental goal of a rich farmer ?

2. @S H @ ThA form TR y-fAfiehtor & fofe ITRert 8 2 1
YT
TSI § AT TRENT Y-t & Tt e ITerRt 8 2 1

How are mining activities responsible for land degradation in Jharkhand ?
OR

How is overgrazing responsible for land degradation in Gujarat ?

3. HgU IT ¥ Y9 ARG | IUgfAftEt smaeh 39 § i Tl off ? 1
JrqaT
TR | sEdl Tel & IR g9kl § AfEe1st 3 sl i U@l ol e &
THI: BAlcHI®d o1 TohaT T ? 1

Why were manuscripts not widely used in India before the age of print ?

OR

Why were women and children often discouraged from reading novels in
the early decades of the twentieth century in India ?

4.  fice H g gg T TE 53T ? 1

Why did a civil war start in Sri Lanka ?

5. 1815 ifuspm ‘Eleardt vmen syagened’ 3 Wi swifd A <t giga ammft

et s & fofe deiRm o fem w5 2 1
arera
1907 ® fomraamm # Tiferd 1 TRpar oI Qiew T ? 1
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Why did most of ‘conservative regimes’ impose censorship laws to control
printed material associated with the French Revolution in 1815 ?

OR
Why was the “Tonkin Free School’ established in Vietnam in 1907 ?

6. Tids ams &1 e TRfaRE % @ e fafa | é%:z

Give two examples of economic activities of the secondary sector.

7. 9gUSHE HHAT fRE TR 3 HHIHE | e § 2 1
In what way are MNCs different from other companies ?

Qs 9
SECTION B

8. uRd # foceft faw =1 smefta 9 & fofw g 9 T=¥ TR gRT 33T MU
foredl 7 emt =1 avia AR | 1x3=3

Describe any three steps taken by the Central and State governments to
attract foreign investment in India.

9. “FU THNIHS HHT A R Thdl g |7 TH HIYT Pl qoh dlgd ~A—ETT

SIS 3
AYAT

“FUT THMICHS IERT 3T R Fhal & | 9 B hl b Algd TG
38T | 3

“Credit can play a positive role.” Justify the statement with arguments.

OR

“Credit can play a negative role.” Justify the statement with arguments.

10.  3Thol HiY & T & fUeh USHTR 8 Iq7 FohT ST Tehd & 2 Fohedl i 3umii <

ST T | 1x3=3
e

R H SRS <hl e 1 8 gU fohan ST ®ehel & ? fohedl oI Ul ht

ST HIT | 3
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How can more employment be created in agriculture sector alone ? Explain
any three ways.

OR

How can the problem of unemployment be eradicated in India ? Explain
any three ways.

11.  “9ra ¥ 4 W fafig yer 6t y-smhicar o8 St 8 17 @9 3 gt wed
! =AFETA 3gT | 1x3=3

“India has land under a variety of relief features.” Justify the statement

with three examples.

12. TH WThideh THIEHT 1 3 R foeehyash @1 & SWINT F&1 T =MMEY ? 379
foramt <t Tase Fifs | 3

Why should we use natural resources properly and judiciously ? Explain
your views.

13.  T5r0T 0 UseUsT o B9 H Afedcd # AT ? AR Hif | 3
arerat
o™ o T 8 TSI TR HIEhideh ToY o @ISl H 56 ¢ ? SRS
HIFTT | 3

How did Britain come into existence as a nation-state ? Explain.

OR

How had schools in Vietnam become an important place for political and
cultural battles ? Explain.

14.  “STferepTsT TTfUa ATl SAEATSHT o TTHA Alhdd o (IR i AT 8 |7
3eTEN Afgd sed i gfse Shifv | 3

“Most of the established democracies face the challenge of expansion.”

Support the statement with examples.
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15. Sehgdt wared # [ § frE yeR a=, afeenst ot s % w9 § ad
AT | U U3 9¢ ? 3R Higd AT HIfT |
3AYUAT
JfAfees TR &l it awEg v # ¢eft Sfem @ ffa-famst @ el
SRR 1 SHed B1d H TS 311 ? IS8 Gfgd ST iy |

How had a large number of new readers among children, women and
workers increased in nineteenth century Europe ? Explain with examples.

OR

How were vernacular novels a valuable source of information on native life
and customs for colonial administration ? Explain with examples.

16. X & 11 T i T & w9 4 fafmior s & ggw o1 9viF i |
AT
HN o fohrE H TN o ANTGH T JUH hHIT |

Describe the importance of manufacturing industries as a backbone of
economic development of the country.

OR

Describe the role of industries in the development of agriculture.

17. ToHIfd | Sfd fop8 TohR 37 9 o Tehd! & ? 32180 Afgd s3I hifvu |

et
TR 3 WG F W ¥ wigenedi i feufy § F guw gen 2 3erewn wfga
T T |

How can caste take various forms in politics ? Explain with examples.
OR

How had the position of women improved in our country since
independence ? Explain with examples.

18. “Arhaiieh daeel shi 9t gohetal i ot fasuer AT # 3 17 39 A H
Ty hifs |

“Democracies have had greater success in setting regular free and fair
elections.” Analyse the statement.
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19.

20.

21.

Que T
SECTION C
TR 99 foeme oo § B=aty TR & 98 &1 9ui9 hIfSu | Ix5=5
YT
gydre <l forgl ai= fomiwansti <1 aui hifvu | Ix5=5

Describe the importance of a third-tier of government in a vast country like
India.

OR

Describe any five features of federalism.

TRTeHT et o TRl 3R TS i Taenon % fow § e wwgy ST

S T oft 2 sare i | 5
YT

TRd o fafys vrm 4 frami it siifeanfE=i 3 ‘staga st | ford IR

T T 2 s hifse | 5

How did plantation workers have their own understanding of Mahatma

Gandhi and the notion of Swaraj ? Explain.

OR

How had peasants and tribals participated in the ‘Non-Cooperation

Movement’ in different parts of India ? Explain.

AT %N § IR o 0 wRa ¥R gR1 T 7w foreel di=r drenfieha @
FEATTA R T GUMH I | Ix5=5

Describe any five technological and institutional reforms undertaken by
the Government of India to improve Indian agriculture.
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oL
22. 1920 % TR 39k H fohE TR STHIGHI STefedaeel IA: il | qah] i
it 2 gren wfed sATE HIT | 5
U7
el Trared] o NH gl H SR H | <l Igard 8 Hegy <l faah e
THTId 83 ? I8 Higd sAmed] hify | 5
YT
Sl FdTed H Sig o TR 3T hREHI H ShIAd o 98 U9HH W SEHTT 9
&8 TR gHETd 9e7 71 78 off 2 Serswn wfgd e hifvw | 5

How had the U.S. economy resumed its strong growth in the early 1920s ?
Explain with examples.

OR
How did the abundance of labour in the market affect the lives of workers
in England during the nineteenth century ? Explain with examples.

OR
How had widespread use of coal in homes and industries in nineteenth
century England raised serious problems ? Explain with examples.

23, “foret QU1 & AT SUR i i STfier a1 Jrar 8 |7 dehl Afgd e
&I I I8N | 5

“International trade is considered the economic barometer of a country.”
Justify the statement with arguments.

o o 0N o

24. TfaRaa ToHifas gal & g9 el T 399 Traf-aa TSl i Rt §918T : Ix56=5
i) Tl sremred g

(ii) GHTSETE! 9l
(i) U.3E.U.E.wH.%.
(iv)  qUFd "

(v)  USE SHar g
Identify and list the symbols of the following political parties with their

States :

(1) Shiromani Akali Dal
(il) Samajwadi Party

(iii)) A.ILAD.M.K.

(iv)  Trinamool Congress
(v)  Rashtriya Janata Dal
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25.. “SuviRTsTl I T HigaTslt IR SMwor o fagg @faqfd Famo &1 iR

2 1” sem it gfee hifsu |

“Consumers have the right to seek redressal against unfair trade practices

and exploitation.” Support the statement.

26. (A
(B)
(A)

32312

Qs ¥
SECTION D

T TG ‘@’ IR b’ U T wRE % TeHifoe W@AEkE (98 11 W), §
Jferd foru T B | 39 A&qon o1 FAefafga S Y wgEar @ yg=nte

IR Ik T AW Ik Trfig Tl 78 et w fafgu
(a) 9% TAM TE WA TSR HiE o1 AEYE g3 |

1x2=2

(b) 98 T S8l § A hl Wl S el ThEMI T IGIeH TR §3T |
3t feu MU wra & Ui At 8 Fefatea @ 9 et i

I ITYH FaEl | guigy 3R 3k a1 faRaw
(i) EWps - 99

(i) = - Y@ g5 9ad

(i) Tem ~ 8 3R T $g
(iv) BeUEle  —  GIFeaIR TeTeArsil dTeh

(v)

T

— e
SHTUeh il JAA

1x3=3

Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the
lines marked near them :

(a)

(b)

The place where the Indian National Congress session was

held.

The place from where the movement of Indigo planters was

started.

P.T.O.



- (B) Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :
(1) Hirakud —  Dam
(i1)) Kochi —  Major sea port
(iii) Salem —  Iron and Steel Centre
(iv) Hyderabad -  Software Technology Park
(v) Naraura —  Nuclear Power Plant
Fig:  FECTRET 397 @acl gIRanea qhgnteen & o/ 397 61 26 & €& T/
& | fabgt wier 3971 & I [o7ieT

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26. Attempt any five questions :
(26.1) 38 ST 1 A faflgu, &1 Alcriaran s = 8 |
(26.2) 38 TAA 1 9w fafge, S fiad Hi @dt == 9 fram 3 aamE
feRarm |
(26.3) TSIA < 39 ¥IM 1 W foafgn, SaT fhami 3 geamrg foma |
(26.4) 3T USF &1 W fafge, &7 deart dig-37h T T § |
(26.5) 3 TSA 1 AW fafaw, S&T wifa Tl oo fea 7 |
(26.6) 39 U= &1 9W faRge, S@t 70w mfvees ga foorg 2 |
(26.7) I8 TS 1 AW fARgy, J&f gL ARl a1 $697q &7 @ 8 | 1x6=5
(26.1) Name the State where Jallianwala Bagh incident took place.
(26.2) Name the place where the Indigo planters organised Satyagraha.

(26.3) Name the place where the peasants started Satyagraha in
Gujarat.

(26.4) Name the State where Bellary Iron-ore mines are located.

(26.5) Name the State where Kochchi Sea Port is located.

(26.6) Name the State where Naraura Nuclear Power Plant is located.
(26.7) Name the State where Durgapur Iron and Steel Plant is located.

3232 10



[=];[=]
[=] %
I E. 26 % fow For question no. 26
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